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1. Where 1s g(x) = f{x)? 2. Where is g(x) > f{x)?
3. Where 15 g(x) <_f(x)? 4. What is greater f{5) or g(5)? Justify your answer.

(~2,~4)V

(2 "’7



Blay

f(x)

\j
1. Where 1s fix) = g(x)? B Where 1s f{x) > g(x)?

X=-2, (-2,4)

3. Where 1s fix) < g(x)? 4. What is greater f{10) of g(10)? Justify your answer.

(~o0,~ =) v (1,7)




Using the graph below answer the following questions.

¥
10
kix)
hix)
/ -4 | -2 2 4 & X
-5
1. Where is k(x) = h(x)? 2. Where 1s h(x) > k(x)?

3. Where 1s h(x) £ _k(x)? 4. What 1s greater h(2) or k(2)?
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Where is f{x) = g(x)?

X:"{)—?

Where 1s fix) < g(x)?

(-1)71

2. Where 1s f{x) > g(x)?

(=, 1) UC%?@}

4 Whatis greate@ or g(10)? Justify your answer.




Solve the equation

-3x+20=5
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5x-12=3
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Solve the equation by graphing
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-3X+2015 5X - 12 =3
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Solve the equation by graphing
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Solve the equation by graphing
‘x 2 = 2x 2
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